QSC %5 FEEE

fEBNRBREFTEMEIT(CR

CHELIC PNEUMATIC

C REEIEE

TRIRIE (O TBEIRIE(EH)
EEIRIEGA - $58%) EEGTE)
FHRITAZ (IR - $880) ! EECL)
‘ B 0 BRITURAREE 0
ORUIR(1218) i F{EE RN -
ORUIB(1518) J T T
) ?
e : FRIBJE (3 - 3882
— ARG - $5R) N E (T 55)
KZFER2RE
RS - 1580 JTUFTEE(E3R)
O RER
B H W @4 , @6 , ¥8 , @10, @12 , 5/32” , 1/4” , 5/16” , 3/8” , 1/2”
P TR
R ER NEE kgf/em? (kpa) 0~9(0~900)
REBEMIE ) kgf/cmz (kpa) 10 (1000 )
LR S 10 (8) =
FERREEHE °C (0~60)
] =i (R
HH LLAC LD
BB NYLON , PBT , PP
EEOR Rc (PT) M3x0.5p ,M5x0.8p (10/32") , 1/8" , 1/4" , 3/8" , 1/2"
FERER fft 22 B
O T BTSSR
C QTC -6 H)-C . H-( T D)
| wmEdg | | = R | | #wEsm |
| AR Yy |
4 — @4 mm M3 — M3x0.5p |« Qsc
6 — @6 mm M5 — M5x0.8p 601A
01 — PT 1/8" |
8- o8 mm 02 — PT 14" e 4}
10 — 210 mm 03 — PT 3"
12 — @12 mm 04 — PT 1/2 my ! _——
p— - Al: SRR
QSC: A%\ E| | (EEIR)
5/32"— @3.97 mm 10/32"— NR 10/32” I
QscC
1/4" — @6.35 mm 01 — NPT 1/8” 601B
5/16" — @7.94 mm 02 — NPT 1/4” 1
3/8" — @9.53 mm 03 — NPT 3/8” 9'67 4}
1/2" — @12.7 mm 04 — NPT 1/2” T
QSM: s {RE : [B]: sEmArIE4
FEEE M3 #1& % QSM (TR
BRI ARAGSRIE o

5-2.3

sQO
EIART

MSQL]
ARELEER

SP[]
HEERE

sQUJ
BERIEA

SQR[J
kR

sQLlG
BAEHER

SRR

sc
R

Qs[]
WEE

QH[J
FHHBIRS

Qv
28]

QST

ER
HRIZTE

PU &



QSC %5 FEEE

RERBETESE ERvAC Rt
C RERY
o NHIFRIg B i mm © FEHIFHIR BT * Inch
_ & (PT) _ & (P
HIER B HEIER (=S
M5 |1/8” |1/4" |3/8" |1/2" 10/32" | 1/8" | 1/4" 3/8" | 1/2"
QsC 4 — [ @4 o QSC 5/32" — [] | 5/32" (] ©
QsC 6 — [ @6 o L) QSC 1/4" — [ | 1/4" ) ° o
QsSC 8 — [J @8 (] (] QSC 5/16" — [] | 5/16" (] (]
QSC 10 — [J @10 © [ ] QscC 3/8" — [ | 3/8" © [ ]
QsCc12 — [] @12 (] QscC 1/2" — [] | 1/2" ()
C FEMEFIAD

~ (Al Hrmims) (AR )

C RERHE
©QsC 4 — M5 ©Qsc 6 —o01 eqQsclg —o02
& 15 100 o & 30 200 & & 6.0 400 ¥
1S z 1S / z 1S y z
E 1.0 < £ 2.0 [ < g 4.0 / 300 <
e / = W / £ H / E
€ ~ € "~ €

= 50 E & 100 E = 200 =
¥ 05 - ¥ 1.0 - Y 20 -
= & &
& ﬂﬂlﬂ & ﬂ"ﬂ" & 100 I
u — U T — b u — B

2 4 6 8 10 2 4 6 8 10 2 4 6 8 10

R B g (O] SR B £ B g [ B B AR oy [ 82 B

© QSC 10 —03 © QSC 12 — 04
& 14 800 & ~
IS DZ: € 25 1500 nZ:
£ < £ /] <
= 10 = = 20 =
e / £ X / £
£ e £

= 8 500 £ = 15 1000 £
ﬁ . ﬁ -
o4 gl = s 500 O
m R i

2 4 6 8 10 2 4 6 8 10

SR BE o (O] $F BY SRBE G (O] 8F B

5-2.4



QSC %5 FEEE

SMEREIFZ R~ CHELIC PNEUMATIC

C QSC A7 REEE

NGIESE
prcd & B L 13 B 2
%;I;I Rgcf(:') = A max | min C|E max | min 9G10G2 gj\Hl% ﬁgﬂﬂ;ﬁ% %g% ;g%gu
@4 M5 |QSC 4 — M5 | 38 |27.8(24.8 |14.8 |19.9 |29.7|26.7(105| 10 | 8 4 10
1/8" |QSC 4 -0l | 6 |354|3L6 |14.6|21.6 384 346|105 |142| 12 55 20 || MsQH
1/4" |QSC 4 -02 | 9 | 37 |33.4|146|21.6|41.5|37.9|105|186| 17 125 34 I
@6 M5 |QSC 6 — M5 | 3.8 |27.8 |24.8 (17.1 |21.829.7|26.7 |124 | 10 | 8 4 10 SPOI
1/8" |QSC 6 — 01 6 [35.4(31.6|17.1|23.7 |38.4(34.6|12.4|142| 12 15 20 HEsEEE
1/4" | QSC 6 — 02 9 37 |33.4|17.1|259 |415(37.9|12.4|18.6| 17 12.5 36
3/8" |QSC 6 —03 | 10 |45.3|40.2 |17.1 | 28 |50.3|45.2|12.4 | 23 | 19 20 60 sQr1J
@8 | 1/8" |QSC 8-01 | 6 |354|31.6|189|255 |38.4|346 143|142 12 5.5 20 || FESER
1/4" |QSC 8 -02 | 9 | 37 |33.4|189|27.7|415|37.9|143|186| 17 12,5 36
3/8" |QSC 8 — 03 | 10 |45.3|40.2 |18.9 |29.9 |50.3|45.214.3| 23 | 19 20 60 Zg:;@m
@10 | 1/4" |QSC 10 — 02 | 9 | 37 |334 |20.4|29.6 |41.5|37.9(17.8|186| 17 125 40
3/8" |QSC 10 — 03 | 10 |45.3|40.2 |20.4 |31.7 |50.3 |45.2 [17.8| 23 | 19 20 64 sQOG
1/2" |QSC 10 — 04 | 14 | 55 |46.6 [20.3 |34.6 | 62 [53.6|17.8 |28.8| 24 35 98 BHEHER
@12 | 3/8" |QSC 12 — 03 | 10 |45.3|40.2 |22.8| 35 |50.3|45.2 (215|212 19 20 68
1/2" |QSC 12 — 04 | 14 | 55 |46.6 |22.8 |37.2| 62 |53.6|21.5|288| 24 35 102 | | $RzEE
H r%, REIRE
ER| TR st A B 1 cl|E L —|G1|@G2 Hi2 BNEER ES
ST 8 @D |NR (NPT) max | min max| min H mm?2 )
® 77‘ — gg 5/32" [NR10/32"|QSC 5/32-10/32 | 3.8 |27.8 | 24.8|14.8 |19.9 |20.7|26.7 |105| 10 | 8 4 10 g ;ﬁ;
= T 1/8" |QSC5/32—- 01 | 6 |35.4|31.6|14.6 |21.6 [38.4|34.6 /105 |14.2| 12 5.5 20
41;1%2 gggmﬂ 1/4" |QSC5/32— 02 | 9 | 37 |33.4|14.6 |21.6 |41.5|37.9 105|186 17 125 34 QsO
1/4” |NR10/32"|QSC 1/4-10/32 | 3.8 |27.8 | 24.8|17.1 (21.8 |29.7|26.7 [12.4| 10 | 8 4 10 HEIEE
1/8" |QSC 1/4- 01 | 6 |354 |31.6|17.1|23.7 |38.4|34.6 |12.4|142| 12 5.5 20
1/4" |QSC 1/4— 02 | 9 | 37 |33.4|17.1|259 |41.5|37.9 |12.4|186| 17 12.5 36 QH[J
3/8" |QSC 1/4— 03 | 10 [45.3|40.2|17.1 | 28 |50.3|45.2 |12.4 | 23 19 20 60 FHbE
5/16" 1/8" |QSC 5/16— 01 6 |35.4|31.6|18.9 255 (38.4|34.6|14.3|142| 12 55 20 Qv
1/4" |QSC 5/16— 02 | 9 | 37 |33.4|18.9|27.7 |41.5|37.9 143|186 17 125 36 B —
3/8" |QSC 5/16— 03 | 10 |45.3|40.2|18.9 |29.9 |50.3 452|143 | 23 | 19 20 60
3/8” | 1/4" |QSC 3/8—02 | 9 | 37 |334|204 (296 |415(37.9(17.8 |186| 17 12.5 40 QST
3/8" |QSC 3/8- 03 | 10 [45.3|40.2|20.4 |31.7 |50.3 452 |17.8| 23 | 19 20 64 gg%
1/2" |QSC 3/8— 04 | 14 | 55 |46.6|20.3|34.6 | 62 |53.6 |17.8|28.8| 24 35 98
1/2” 3/8" |QSC 1/2—- 03 | 10 |45.3|40.2|22.8| 35 |50.3|45.2(21.5(21.2| 19 20 68 PU &
1/2" |QSC 1/2— 04 | 14 | 55 |46.6|22.8|37.2| 62 |53.6 |21.5(28.8| 24 35 102

5-2.5



QSM %3 FREREEZE

RERBETESE R A ZR R 1
C RERY
o NEIRE -
B mm
F& PT)
HWEAR =Ly
M3 M5 1/8”
QSM 4 — [] a4 o o ()
QSM 6 — [ @6 ° e
C RENHH
© QsM [4] — M3 © QsM [4] — M5 © QsM [6] —o01
gg 20 ;g 15 100 & gg 3.0 200
b4 P4 P4
E 03 / 15 < E 10 / < E 20 / <
C C
fg 02 10 F g 50 E g 100 E
e — P e — 2 e — P
2 4 6 8 10 2 4 6 8 10 2 4 6 8 10
SR % g [m] BB 3 R [ B Y SRR B EEEE
C QSM HR5l R{RBUREETE
DFIIRE
BE | FE e g | ENEHEE | =8
B A © E @G1|BG2
@D PT * max | min max | min H mm?2 @)
M3 QSM 4-M3 | 3.3 |245|23.5|10.5|15.5|26.3|25.3 10 8 0.3 3.7
4 M5 QSM 4-M5 3 [24.6(23.6|10.5|15.5|26.2|253| 9 10 8 1.5 4
PT 1/8" QSM 4-01 6.5 129.1|27.6|10.4|175|32.8|31.4 13.2] 12 35 7.9
. M5 QSM 6-M5 3 |24.6|23.6|12.6 |17.3|26.2| 25.3 10 8 1.5 7.1
6 11.4
PT 1/8"| QSM 6-01 6.5 129.1/27.6|11.9 (185|325|31.4 13.2] 12 3.5 7.8

2G2 Al PT

5-2.6




QSN %5 REEZSE
{EBIR R BT BRI

C ASEREE

CHELIC PNEUMATIC

EET TRy FIRIRIE (SR - 3R
0 BB (1588) FREE (A £
B 8 (158) ‘ AR $858)
TNHEE (F2RE) ‘ X B (BE)

UK (1858 )

| —] - 1

35 — B B (BB)

(9B (BR) )

B4R U ARG,
F{EE A -

O BIR (1518)
SHEEE (3R - $EiR)

DESIEES
B B W B 24 , @6 , @8 , @10, @12 , 5/32" , 1/4” , 5/16" , 3/8” , 1/2"
=P T w®
X ER N EE kgflcm? (kpa) 0~9(0~900)
{REEMIEE ) kgflcm? (kpa) 10 (1000 )
HEAR [ R 2y 10(8) &
ERREEE °C 5~ 60
M ] =i (ER)
2B NYLON , PBT, PP
EEOK Rc (PT) 1/8", 1/4" , 3/8”
FERER it 2 2
OC sTHETEIEACSR
(QTN)—(G D) - ( 0|1 >_<T>
| g | | B | | & | | fesisl |
Al a8l | |
4 — @4 mm QSN
01 — PT 1/8” 601A
6 - 26 mm 02 — PT 1/4"
§ - @28 mm 03 — PT 3/8" 2
10 — @10 mm
12 - @12 mm | (Al Hemanmis
- (BERX)
£ |
- 01 — NPT 1/8" osN
5/32"— @ 3.97 mm 02 — NPT 14" OB
1/4” — @ 6.35 mm 03 — NPT 3/8"
5/16" — @7.94 mm %@
3/8" — @9.53 mm X WA !%SN:EE
12" - @12.7 mm LR R

3% FEEDHE 1 QSNN
Eidlig ]

QSNN : i $%EE

5-2.7

(A EC)

sQO
EIART

MSQL]
ARELEER

SP[]
HEERE

sQUJ
BERIEA

SQR[J
kR

sQ1G
B HEHEE

SRR

sc
R

Qs
BEpeged]

QHL
FENFIRA

Qv
28]

QST

ER
HRIZTE

P~

PU &



QSN %3

AR ER

HEsmEEl S m R E s R AR R ER 1
O AEmESFE
- HEmiEm (fRZER ) _ HE T e
BRm @ SR
——— cal =
i <—ti—€ -
PR
C mEfHE
© QsN [4], [5/327] © QsN [6], [1/47] © QsN [8], [5/167]
~ 15 100 @ —~ 30 200 & — 60 200
£ z £ /| = £ =
E 10 < E 2 / - E 4o / 300 =
H / £ H / £ H / £
= 50 E & 100 E & 200 E
& 05 3 g 10 3 & 20 3
I 1 100 1
P - I S
2 4 6 8 10 2 4 6 8 10 2 4 6 8 10
EEEEE RS S R i [ B =k [E 8E 2
© QsN [10], [3/87] © QsN [12], [1/27]
o~ 14 800 __ « —~
€ / [ £ 25 1500 &
E w 2 £ /] z
i / £ i / £
E 8 500 E = 15 1000 E
kT - ko 4
w4 / B 8 v 500 [
i S T S
2 4 6 8 10 2 4 6 8 10
S B (] 5 25 o B g (] B Y

5-2.8



QSN %3 REESE

=1 I~
SEER R~ CHELIC PNEUMATIC
© OSN Rl FREHEE DRI
BR | BE E L BREEE | =8
B B | C d G
@D1 | @D2 * 2 e Tam | ™ | ™ S 2 mm?2 (9)
o4 | @4 QSN 4 |41.4]14.6] 32 [14.2] 11 | 6.9 | 14 |265/25.3]105 4 12 sQL
26 | 6 QSN 6  |49.2|16.6] 4.3 |19.7]14.9] 85 | 18 [39.3]345[128] 55 26 o
o8 | o8 QSN 8 |55.1(17.9] 43 |21.3]185] 96 | 22 | 45 |422]145] 125 | 42 o
210 | 210 QSN 10 |62.9]19.3| 4.3 |23.7|18.8]11.6| 26 |45.2[433[17.8] 20 70
212 | 212 QSN 12 |735|21.8| 4.3 |28.9|22.3|11.7| 32 |54.8[482|212| 35 15 | | MsQO
HIRE R
BEHIRR
= i = L N
« :Dl fl;z B = G|z max | min Fa || 1Fe max | min 2 ﬁiﬁ?ﬁ EEQT SPLJ
BEAEEY
o 5/32" | 5/32" | QSN 5/32 |41.4|14.6| 3.2 |14.2| 11 | 6.9 | 14 |26.5/25.3|10.5 4 12
= 14" | 14" | QSN 14 |49.2]16.6| 4.3 [19.7]14.9] 85 | 18 |39.3[34.5|128] 55 26
5/16" | 5/16" | QSN 5/16 |55.1|17.9| 4.3 |21.3|185| 9.6 | 22 | 45 |42.2|145| 125 | 42 sQ1J
c 3/8" | 3/8" | QSN 3/8 |629|19.3| 43 |23.7|18.8|11.6| 26 |452|433|17.8] 20 70 EEtER
B 12" | 12" | QSN 12 |735|21.8| 4.3 |28.9|223|11.7| 32 |54.8|482|21.2| 35 115
SQR[]
© QSMN #35l AEEE A IR
DHIHEE
| T8 E L 2 | BEEE B8
=i ‘Bt | A|B|cC|ad B | e 26 = | sQlle
Rc(PT) max | min max | min H mm2 | (g) B HEHES
1/8" |QsMN4-01| 6 | 49 14
o4 Q 146]32 142 11 |69 | 14 |28.5|25.3|105 2| 55 [ 22|
14" |QSMN 4-02| 9 | 52 14 26
1/8" |QSMN 6-01| 6 [56.9 14 34 EOEEEE]
6 16.6| 4.3 |19.7(14.9| 8.5 | 18 |39.3(34.5(12.8/ - | el
25 L TosmNs 0zl s Te0s| 08| 43|10 9|85 |18 393345128/, 12—
14" |QSMN 8-02| 9 |66.7 19 62
28 e I T
5 [oSMN 8 03] o loo |70 43 |213|185| 96| 22 | 45 |422]145 5 =
2% PT e RS
el i | AuEES &
| TR E L E [ 2
254 = X | A|B|C|@d —F1 | F2 | gG ) tsc
B \ NPT max | min max | min H mm (@) BER
1/8" |QSMN5/32-01 4 14
. fg 5iagr [0 |QSMNSIR2-01 6 | 49 |, ol 55 l145) 19 | 6.9 | 14 285|253/ 1052 55 |22
X e 1/4" |QSMN5/32-02] 9 | 52 14 26 -
¥7E | = }r}f& q g | MB QSN LA-O0L € 156.9) ¢ ol 431107 |14.9| 85 | 18 |30.3|345 128 | 12 |- Q .
== 14" |QSMN 1/4-02] 9 [60.3] | 7 [T il Rt e IV 36 | | HEEH
R/A H S s/t [ L4 (QSMNSA6-02) 9 J66.71 . ol 3 1213|1855| 06 | 22 | 45 422|145~ 16 |22
s 3/8" [QsMNs/16-03] 9 e6.7| 0| Tt BT 0] quo
FEIEIR
© QSNN FR5l FFEEEHE
NHIFRE Qv
Fig E L HiE | BREEE =8 BRZBIRA
B |A|B | ad " F1 | F2 g6 = "
Re (PT) max | min max | min H mm2 (@)
/8" SNN 01 | 6 |569| 32 |142| 11 | 6.9 | 14 |29.8|27.4| 105 | 2+ % || QST
Q Il e : et i g RV 55 I3 ARt
o o | | BEEm
14 QSNN 02 | 9 |714) 43197149/ 85 | 18 |419|377|128 .~ 12 [
19 78 (=3
3/8" QSNN 03 | 9 |783| 43 213|185/ 06 | 22 |47.6(403|145 o 16 PU &
Al PT B
4 NPT F2 R BR A
Fi E L g BREEE 22
2.5d Bt |A|B|ad a2 oG =
NPT max | min max | min H mm2 (9)
14 30
/8" QSNN 01 | 6 |56.9| 32 |142] 11 |69 | 14 |20.8|27.4|105— 55 |
in 01 14 38
= 14 42
14 QSNN 02 | 9 |714) 43197149/ 85 | 18 |419|377|128 1, 12—
A 19 78
s 3/8" QSNN 03 | 9 |78.3| 43 |21.31855) 9.6 | 22 |47.6403|145 o~ 16 o]

5-2.9



QSU #5 LBREEE
EENRIBREZTRETBITL(CR = AR

C AREREE

FAEIRNE (M E) IR (BB E)
IR 8T 3RR,
FEE R ©

CEEET]
SHEE (8 - SHIR)

2 FREREE (LR
H N A (R

X A EE (3R
CHERAR @HIR))

BIRAAR (ZHENE)

ORI (1542
A B8 (BHnE

ORITE (51)
DESIEES
E B w @4, @6, @8, @10, @12, 5/32" , 1/4” , 5/16” , 3/8” , 1/2"
fFRRRE T R
EBNEE kgflcm? (kpa) 0~9(0~900)
{REEMIEE ) kgf/cm? (kpa) 10 ( 1000 )
LA I 10 (8) &=
FERREHE °C 5~ 60
s e =R ( $EER
are LLE L)
¥BRR NYLON , PBT , PP
EEOE Re (PT/NPT) M5x0.8p , ( 10/32") , 1/8" , 1/4" , 3/8" , 1/2"
FEpER Bt 2 BB
O =TIBTEIF(LoR
Cosu HD-(C & H-(C s )—
| ey | | 8% | &g | | #arsA |
a8 | asl | |
4 — @4 mm M5 — M5x0.8 QSsu
6 — @6 mm 01 — PT 1/8” 06-A
8 — @8 mm 02 — PT 1/4”
SU- pr— 10 — @10 mm 03 — PT 3/8”
QSU : LIRS 12 - @12 mm 04 - PT 1/2° A PR e
4 ESl (LR )
5/32"— @3.97 mm 10/32 — NR 10/32" Qsu
1/4" — @ 6.35 mm 01 — NPT 1/8” 06-B
5/16" — @ 7.94 mm 02 — NPT 1/4”
3/8" — @9.53 mm 03 — NPT 3/8”

1/2" — @12.7 mm

04 — NPT 1/2”

CERERIEE

(B )

5-2.10



QSU %3 LEFE#EE

HERBERERFT U CHELIC PNEUMATIC
O HERB
© AR g :mm  © EEHFRE B{Y * Inch
_ & (PT) _ ZFH& (NR/NPT) sQO
HIENR (=R HIENR (=R BERT
M5 [1/8” |1/4" | 3/8" | 1/2” 10/32" | 1/8" | 1/4" 3/8" | 1/2"
QSU 4 — [ | o4 ) QSU 5/32" — [] |5/32"| @ () MSQ[
QSU 6 — [1 | @6 ° e | o QSU 1/4" — [ | 1/4" o () o RIRREER
QSuU 8 — [] @8 © () QSU 5/16" — [] | 5/16" (] (]
SP[]
QSuU 10 — ] @10 (] (] QSuU 3/8" — [] | 3/8" © © HEEEE
QSuU 12 — [] @12 © QSuU 1/2" — [] ] 1/2" ()
sQ1J
EERIETE
O AEMEFI S
N SQR[]
_ = {70 Gy =l e =
HEsm sl (AR ) — ME T i #HigEE
SR ZRER R sQUlG
BAEHER
$R1%A
PR osc
R
C REHH Qs
FEszmE
© QSU 4 — M5 ®©QSU 6 —01 ®© QSU 8 —02
T 15 = & 3.0 200 & 6.0 2 QuL
a 100 x L 3 7 x L & y 400 x FERIE
E 1.0 < £ 2.0 [ < E 4.0 / 300 <
H £ Hx £ [T £
& / so E & / 100 E & / 200 E Qv
ﬁ 05 — ﬁ 1.0 - ﬁ 2.0 - R EARE
& ﬂ“ﬁ = ﬂ"ﬂ“ &R 100 I
o — R uuy — b s — | S QST
2 4 6 8 10 2 4 6 8 10 2 4 6 8 10 R
FEmE
HRE i (B B 8 SRR O] B B A %2 g O] 5 8
PU &
© QSU 10 — 03 © QSU 12 — 04
T 14 800 & x
IS DZ: € 25 1500 nZ:
£ < £ /] <
S = 20
= / E = / £
£ £
= 8 500 £ = 15 1000 £
ﬁ . ﬁ -
o4 gl = s 500 O
o R 12
2 4 6 8 10 2 4 6 8 10
ekt EEEY Sy R R O] B B

5-2.11



QSU %3 LEFE#EE

SrEER R~ Ehvas el
© QSU 5l LEGREEEEE
AFIRE
ER TR Azt A B c lE1lE2 @G L1 Lo | g BB BREER S8
@D | PT max | min max| min H mm? | (g)
M5 | QSU 4-M5 | 3.8 |27.8|24.8 109| 5 29.7|26.7 24.3| 8 4 10
@4 11/8" | QSU 4-01 | 6 |(35.4(31.6/10.2| 13 |7.1 | 9 |38.4(34.6| 14 |28.3| 12 55 20
1/4" | QSU 4-02 9 | 37 |334 15.2|9.3 41.5|37.9 31.5] 17 12.5 34
M5 | QSU 6-M5 | 3.8 |27.8|24.8 121 5 29.7|26.7 26.6| 8 4 10
o 1/8"|QSU 6-01 | 6 |35.4|31.6 1o 142\ 7.1 1 38.4|34.6 163 30.6| 12 55| 20
1/4" | QSU 6-02 | 9 | 37 |33.4 16.4] 9.3 41.5/37.9 33.8| 17 12.5 36
3/8"| QSU 6-03 | 10 [45.3]40.2 18.6 |11.5 50.3|45.2 39 | 19 20 60
1/8"| QSU 8-01 | 6 |(35.4|31.6 19.3| 7.1 38.4134.6 37.1] 12 55 20
@8 |1/4"| QSU 8-02 9 | 37 |33.4] 17 |21.5|9.3 |14.3|41.5|37.9|22.8|39.8| 17 12.5 36
3/8"| QSU 8-03 | 10 |45.3]40.2 23.7|115 50.3|45.2 455| 19 20 60
1/4" | QSU10-02 | 9 | 37 |33.4 23.8/ 9.3 41.5/37.9 43.1| 17 12.5 40
@10|3/8"| QSU10-03 | 10 |45.3/40.2| 20 | 26 |11.5|17.8|50.3|45.2|26.5|49.2| 19 20 64
1/2" | QSU10-04 | 14 | 55 |46.6 28.9|14.4 62 |53.6 53.3| 24 B85 98
BT o512 3/8"| QSU12-03 | 10 |45.3]40.2 013 28.4110.6 11 50.3|45.2 - 51.3| 19 20 68
Bl :NPT 1/2" | QSU12-04 | 14 | 55 |46.6 31.3(14.4 62 |53.6 56.4| 24 | 35 102
R
R ﬁré‘%é Azt A B | ¢ |E1 E2|@G L1 L2 | Ls 38 BRETEE 22
2D | NPT max | min max | min H | mm2 | (g)
10/32"|QSU5/32 - M5 | 3.8 |27.8|24.8 10.9| 5 29.7126.7 24.3| 8 4 10
5/32"11/8" |QSU5/32-01| 6 |35.4|31.6|10.2| 13 | 7.1 | 9 |38.4|34.6| 14 |28.3| 12 55 20
1/4"|QSU5/32-02| 9 | 37 |33.4 15.219.3 41.5|37.9 31.5| 17 12.5 34
10/32"|QSU1/4 - M5 | 3.8 |27.8|24.8 12.1| 5 29.7126.7 26.6| 8 4 10
1/8" |QSU1/4-01 | 6 |(35.4|31.6 142\ 7.1 38.4|34.6 30.6| 12 55| 20
1/4" 11.9 11 16.3
1/4" |QSU1/4- 02 9 | 37 |334 16.4|9.3 41.5|37.9 33.8| 17 12.5 36
3/8" |QSU1/4-03 | 10 [45.3]40.2 18.6|11.5 50.3|45.2 39 | 19 20 60
1/8" |QSU5/16-01| 6 |35.4|31.6 19.3|7.1 38.4|34.6 37.1| 12 55 20
5/16"|1/4" |QSU5/16-02| 9 | 37 |33.4| 17 |21.5|9.3 |14.3|/41.5|37.9|22.8|39.8| 17 12.5 36
3/8" |QSU5/16 - 03| 10 |45.3]40.2 23.7|115 50.3|45.2 455| 19 20 60
1/4" 1QSU3/8-02 | 9 | 37 |33.4 23.8|9.3 41.5|37.9 43.1] 17 12.5 40
3/8" |3/8" |QSU3/8-03 | 10 |45.3/40.2| 20 | 26 |11.5|17.8|50.3|45.2|26.5|49.2| 19 20 64
1/2" |QSU3/8-04 | 14 | 55 |46.6 28.914.4 62 |53.6 53.3| 24 &5 98
3/8"|QSU1/2-03 | 10 |45.3]40.2 28.4|10.6 50.3|45.2 51.3| 19 20 68
1/2" 21.3 211 29.6
1/2"|QSU1/2-04 | 14 | 55 |46.6 31.3/14.4 62 |53.6 56.4| 24 35 102

5-2.12




QST %% mEiR=\AEZE

fEBNAR B R EERT FE B TR AR

CHELIC PNEUMATIC

5/32"- #3.97mm
1/4” — @6.35mm
5/16"— @7.94mm
3/8” — @9.53mm

C RIEMMEAR
( QTT ) - Ce O - Ce D
[ wmEdlr | [ #E [ && |
| o8| A8
4 - @4 mm 4 - @4 mm
6 — @6 mm 6 — @6 mm
8 - @8 mm 8 — @8 mm
10 - @10 mm 10 - @10 mm
QST: ) e
ERE SR

5/32"- @3.97mm
1/4” — @6.35mm
5/16"— @7.94mm
3/8" — @9.53mm

C REXR
B & @4 , @6 , @8 , @10 , 5/32” , 1/4” , 5/16” , 3/8”

fFRREE T R

FRENEE kgf/cm? (kPa) 0~9(900)

{REEME ) kgficm? (kPa) 10 (1000)

BRAE (O] 2 Y 10 (8) ¥4

ERREEE °C 5~ 60

e ¥ B8 = 8 (58 %)

BB NYLON , PBT , PP

C QST R5I HRIVAEIZE

DHIRE
R 2t B £ F oG M e BREER 22
2D | @D H mm? (9)
a4 @4 |QST 4-4 | 234|313 321|124 | M12x1.0p| 14 3.4 35
@6 | @6 |QST 6-6 | 23.7 313|324 | 124 |M12x1.0p| 14 7.2 35
?8 | @8 |QST 8-8 | 295|365 |37.6 |17.8 | M14x1.0p| 17 8.7 70
@10 | @10 |QST10—10| 30.1 | 36.5 | 38.2 | 17.8 | M14x1.0p | 17 17.4 75
RHIRE
R 2t B £ F oG M e BREER 22
2D | @D H mm? (9)
5/32" | 5/32" |QST5/32-5/32| 23.4 | 31.3 | 32.1 | 12.4 | M12x1.0p| 14 3.4 35
1/4" | 1/4" |QST 1/4-1/4 | 23.7 | 31.3 | 32.4 | 12.4 | M12x1.0p | 14 7.2 35
5/16” | 5/16” |QST5/16 -5/16 | 29.5 | 36.5 | 37.6 | 17.8 | M14x1.0p | 17 8.7 70
3/8" | 3/8" |QST 3/8-3/8 | 30.1 | 36.5 | 38.2 | 17.8 | M14x1.0p | 17 17.4 75

5-2.19

sQO
EIART

MsQ[l
ARELEER

SP[]
HEERE

sQUJ
BERIEE

SQR[J
kR

sQLlG
BAEHER

SRR

sc
R

Qs]
WEEE

QH[J
FHHBIRS

Qv
28]

QST

‘R
AFEETR

PU &



	01.調速接頭索引 右
	02.調速接頭-MEMO
	03.安全須知-01
	04.安全須知-02
	05.調速接頭-5-2.1
	06.調速接頭-5-2.2
	07.調速接頭-5-2.3
	08.調速接頭-5-2.4
	09.調速接頭-5-2.5
	10.調速接頭-5-2.6
	11.調速接頭-5-2.7
	12.調速接頭-5-2.8
	13.調速接頭-5-2.9
	14.調速接頭-5-2.10
	15.調速接頭-5-2.11
	16.調速接頭-5-2.12
	17.調速接頭-5-2.13
	18.調速接頭-5-2.14
	19.調速接頭-5-2.15
	20.調速接頭-5-2.16
	21.調速接頭-5-2.17
	22.調速接頭-5-2.18
	23.調速接頭-5-2.19
	24.調速接頭-5-2.20



